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Tl A8 v S P e Besm O aver OFF e Acc0 Asym (ppt): -40.49 +/- 109.61
A 1 USbg1 Asym (ppt): -0.36 +/- 3.30
USbg2 Asym (ppt): -1.11 +/- 2.32
DSbg1 Asym (ppt): -0.02 +/- 1.00

H[LLHIML w DSbg2 Asym (ppt): 0.38 +/- 0.89
Py 0 LY Top Finger Asym (ppt): 1.46 +/- 1.22

P Side Finger Asym (ppt): 2.94 +/- 3.19
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Run 5062, quartetwiza: USbgl vs time

W

+ + + + + &
+ = F 4+

+ + +
-+ F i H

+ + + + +
O =+ e R W + 4+ L,
- B W RN A W F R
+ - R HH Y HH -

+ - HE + ¥
++ EHt e E +H

+++ + +

+ + H +
L b +*
ﬁvl 1 1 I 1 1 1 1 I 1 1
20000 25000

Entry%

++¥

.|#..|.
A AE0L0

L
0000
Entry§

¥

5

RUH

1 I 1 1 1 ﬂ 1 1 1 I 1 1 1 1 I 1 1
10080 20000 25000

UShga

DEhg2

herizFing

Run 5062, quartetwize: LISbg2 vs time
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Run 5062, guartetwise: D5bg2 vs time
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Run 5062, quartetwise: horizFing vs tima
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